AL iR K AL B R ARETRER 5k (FRoTEE)
O —REEWRELYS (MEEE) REAKLE

KA | o |HE K
T BT Sy |49 [5A148|6A 18R 7AOR | 8A6H | 9A3E| 104 18| 1145612438 1A9H (2448 | 3A3H
Bk I - - J10:05] 9:20]9:10]9:15] 9:10] 9:00 [ 9:00 [ 9:00 [ 9:00| 9:51] 9:10] 9:00
K C - 113.0 |19.0 [21.0 [24.0 |27.0 [27.0 [27.0 |21.0 |15.0 |[14.0 |13.0 [10.0
PH pH [5.8-86] 7.3 71| 72| 73| a4 72|74 70| 73] 74]74]6.9
BOD meg/0 [ 60 0.9 1.4 |[<0.5[<0.5( 06| 07f05]08]<.5]1.4]06]|T12
COD me/0 [ 90 <05 o8| 17| 18] 1820222023 14f1.7]0.8
SS meg/0 [ 60 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 2
NI fE /et | (3,0000] <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30 | <30
EHREAE me/0 | 120 [ 2.4 29[ 292524282940 36]31]30]32
zxatii (AW [ me/0 | 60) | 2.3 2.8 3.2 25| 26| 3.1 3.2]40]36]33] 32|38
TrE=T %R | ne/o % [<0.1f<o.1f<0o.1]<0.1]<0.1]<0.1]<0.1[<0.1[<0.1| 0.3]<0.1]¢x0.1
nizyegozoikey [ mg/0 [ 0.03 | — — |<0.005] — — — — — [<0.005] — — -
T AEE W mg/ 0 1 - — |<o.1| = - — — — [<o.1| = - -
FHEY AEEW | me/ 1 — | —T<o1] =T =17 -=-1T-=-1T =T<c1] =T -1 =
R OO EY| me/0 [ 0.1 — — |<0.02] — — — — — |<0.02] — — —
LA Z e afedd| me/o | 0.5 | — [ — <004 — [ — | — | — [ — [<0.04] — [ — | —
e EZROCEDOA| me/0 [ 0.1 — — [<o.01] — — — — — [<o.01] — — —
ok eR meg/0 | 0.005 ] — —  [<0.0005] — — — — — 0. 0005] — — —
TNF ALK me/0 nd — — |<0.0005] — — — — —  [<0.0005] — — —
PCB mg/0 | 0.003 | — —  |<0.0005) — — — — — |<0.0005] — — —
s At Es AR mg/ 0 30 - — |<0.5] — - — - — |<0.5] — - -
7=/ —VEEA R ng/0 5 — — |<0.025| — — — — — |<0.025| — — —
A = me/0 3 — | — Joo1 ] — - | - — | = T<o.01] — - | -
dhgn A & mg/0 | 2 — 1 —Too2el =T -1 -T7 -1 - Tloo2] =T -1 —
TAfREskE A | me/0 | 10 -1 —Totl = -1 -1-1- <1 = -1 -
Mt~ 7o ami | mee | 10 | — | — [<0.1] — | — 1 — | — | — <01 — | - | —
V=N e, mg/0 2 — — |<0.04] — — — — — |<0.04] — — —
SoFROEOREY | me/0 8 — — o2 - — — — — |<o.1| — — —
VUG RE mg/0 | 16 — — [<o.01] — — — — — [<o.01] — — —
VoaaRE (AT | me/e | (8) — — |<o.01] — — — — — |<o.01] — — —
ryZmozFL| me/0 0.1 — — [<0.002] — — — — — — — — —
FrIrzmuzFLro| mg/d 0.1 — — [<0.001] — — — — — — — — —
vraeo AHX | mg/o| 0.2 — — |<0.02] — — — — — — — — —
VUtEAL iR 35 meg/0 | 0.02 — — |<0.002[ — — — — — — — — —
7k L2—Y7unx&| mg/0 | 0.04 - — |<0.004| — - — - — - — — —
Li=vsarxFrr| mg/0 1 — — [<0.02[ — — — — — — — — —
va-l2-vrmea=Frr| mg/l 0.4 — — 1<0.04] — — — — — — — — _
Li1—kVzmrxzs| mg/0 3 — — [<o.001f — — — — — — — — —
Li2—kyzma=zz| mg/0 | 0.06 — — [<0.006] — — — — — — — — —
L3—vr7umnra~r| mg/f | 0.02 — — |<0.002[ — — — — — — — — —
FTUT7 A mg/0 [ 006 ] — | — [<coi] — | -] - -] -] -1—-1-1—-
DA me/0 [ 0.03 ] — | — [<o.003] — - | - - | - - | - — | -
FAXHNT | mg/0| 0.2 | — | — |02l — | | - | — | —| —| —| — | —
B mg/0| o1 ] — | — f<cotf —f |~ - - -] -] —
ELUROZORAEY | mg/0 | 0.1 — — [<0.01] — — — — — — — — —
AERIE - RS A [ mg/0 * — — | 28| — — — — — — — — —
Eo#ELOZEORAY | meg/0 | 10 — — <1 — — — — — — — — —
L4—vAF Y | mg/of 0.5 ) — | — <005 — | = | = | = | [ | | | =
L I I T e I I e B N N e e e e

% ORYMATERE RIRE + AR RIBRE + (T B = TR EEE X0, 4) H3100mg /0L T
() PIZHBEESE
M hV e TF Lo OPKEREIL, Fa28FIH15H L V0. 3mg/005H0. lmg/UIZEH L e o7,
X R T AKRORZEOALEMOHEAKIENRET, Fak288E3H15H £ 0 0. Img/0hH>50. 03mg/ITE T L 7o 77,




&AL

1) SHELT

PEEORTE K KE

ToTRE R R

e Ak R RE Y Lo a S Ulbe )

(FANTTAREE)

OF=2Y 77 (Ll :No. 1) - BSOS RS (RS B 9 m)

@F=%V 7HF (Fit :No.2) - S GHAIHS GRS HZ 7 m)

- By No. 1A (D #&4mfH)

=20 I .

IHH BN | ##EiE) 4817858208 |6A148|7A188| 8 A8H [9A118(|108108(11A138|12A138|1A158| 2A7H|[3A13A
KR C — | 15.8|16.6 |18.0 |[17.6 [18.0 |17.8 |17.0 |17.8 |16.9 [17.1 |15. 15.3
EREERE ms/m| — | 35 [ 28 | 34 [34 |31 [36 |56 |24 [34 |26 |25 |30
WA A mg/0| — |17 |23 [ 15 |15 [ 19 [ 18 [24 [15 [ 23 [17 |16 | 15
7L ILKER mg/0| nd — — |<0.0005] — — — — — — — —
ek ER mg/0 [o.0005 | — — |<0.0005] — — — — — — — —
T RI T A mg/0|0.003] — — |<0.0003] — — - — - — — —
&h mg/0]0.01] — — |<0.005] — — — — — — — -
Y ITEZ =10 mg/0f0.05) — | — |00t — | — | = | - - — | — -
b # mg/0(0.01] — — |[<0.005] — — — — — — — —
BTV mg/0| nd — — <01 — - — — — — — —
PCB mg/0| nd — — |<0.0005| — — — — — — — —
M) ZwvvexF Ly |mg/e|0.01] — — |<0.001] — - - — - — - —
T hrZ77nnxF L |mg/ef0.01] — — [<0.0005] — — — — — — — —
vruau Ay mg/0]0.02] — — |<0.002| — - - — - — - -
VUtEAL iR 35 mg/0]0.002] — — |<0.0002] — — — — — — — —
l.2—Y 7= [me/0fo0.004] — — |<0.0004] — — — — — — — —
LL1—-YZvooxF L |mg/of|0.1] — — |<0.002[ — — — — - — — —
L2—vYZ7uvnxF L |mg/0|0.04] — — |o.004] — — — — — — — —
1.1.1—=FVZuuexXZ|mg/0| 1.0 — —  |<0.0005| — — — — — — — —
1.1.2— FVZwuuxX > |mg/0|0.006] — — |<0.0006| — — — — — — — —
1.3—Y 7 oo a2 | mg/0fo.002) — — |<0.0020] — — — — — — — —
F 7T A mg/0]0.006] — —  |<0.0006] — — — — — — — —
DA Vg mg/0 [0.003] — — |<0.0003] — — — — — — — —
FARTNT mg/0[0.02] — — |<0.002| — - - - - - - —
Ry mg/00.01] — — |<o.001 — — — — — — — -
L mg/0|0.01] — — |<0.002[ — — — — — — — —
1. 4= A %% mg/0|0.05] — — |<0.005] — - - - - - - -
/===l ol PN mg/0|0.002] — — [<0.0002] — — — — — — - -
e I N I B e [ N I e B B I I —

K hUZooxF Loy, k2889 15 H X V0. 03mg/0/>50. 0lmg/QUIZEE L 72~ 7=,
XA RITAROZEDOLEMOPRIERET, k2843 1560 £ D 0. 0lmg/0A> 5 0. 003mg/ 012

IERE o,




- TPt No. 2HuAS (M%)
RS20 I .
I H HA7 | E4:E)4R178|58208|68148|78188| 8 A8H |9A11H|10A108|118138[128138|1A15H| 2A7H 3R 13H
7KL C | — |16.3]18.5 |18.5 |19.2 [22.2 [21.2 |[18.2 |18.3 |16.4 |15.2 |14.0 |15.3
ERURE R ms/m[ — |29 |31 |57 |31 |46 |34 |38 |8 |84 |67 |50 |30
WA A me/0] — |20 | 16 |54 | 16 |69 | 25 [91 |130 [130 |100 | 50 | 15
TV L KER mg/0| nd | — — |<0.0005] — — - — — — _ _ _
FRKER mg/ 0 |0.0005 — — [<0.0005] — — — — — — — _ _
B RITA mg/0]0.003] — — |<0.0003] — — - — — — _ _ _
£ me/elo.ot] — | — ool — | = = = | | = | = | - | -
AV /A=A mg/0fo.o5] — | — |<woo1t] = | = | = | = | = | = | = | - | -
=5 me/elo.ot] — | — lwoos| — | = | = | = - | -1 - | -
BT mg/@| nd — — <01 — — — — — — _ _ _
PCB mg/0| nd — — |<0.0005] — — — — — — _ _ _
NV ZmouoxsF L |mg/efo.01] — — |<0.001] — — — — — - - — _
ThI77un=F L |mg/0]0.01] — — |<0.0005] — — - — — _ _ _ _
DA=2=5 3 4 mg/0]0.02] — — |<0.002| — — - - — - — - _
bR e mg/0]0.002] — — |<0.0002] — - — — _ _ _ _ _
l.2—YZuaua=x X | mg/0]0.004] — — |<0.0004] — — — - — — _ _ _
lL1-=-YyZvuxzF L mg/0]0.1] — — |<0.002| — — — — — — — — _
l.2—YZ7vnrxTF L |mg/0|0.04] — — |[<0.004] — — — — — — - — —
.I.1-=FVZuvuxX > |mg/0| 1.0 — —  |<0.0005| — — — — — — _ _ _
L12—hUZmmr=H2 | mg/0)0.006) — — |<0.0006] — — — — — — — — —
1.3—y7unurnm~|mg/00.002] — — |<0.0002| — — — — - — _ _ _
F7 7 A mg/0 0. 006] — — [<0.0006] — — - — — — _ _ _
DA% mg/0[0.003] — — |<o.0003] — — - — — _ _ _ _
FA R ANT mg/0]0.02] — — |<0.002| — — - - — - — - _
A meg/0|0.01] — — |[<0.001] — — — — - — _ _ _
L mg/0[0.01] — — |<0.002| — — - — — — — - —
1. 4= A %% mg/0[0.05] — — [<0.005] — - - - - - - - -
saumaxTF L mg/0]0.002) — — |<0.0002] — — — — — — — — —
A eV ?gé/o, Lol — | — looo| — - | = | = N _ | _

¥RV oo TF LrOPkEEIL, FR284E9A 158 £ V0. 03mg/00>50. 01mg/QIZE T & 7e - 72,

XA R U LROEDEYOYKRENET, FR28F3H15H &V 0. 01mg/07>50. 003mg/QITEH & 72 o7,
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